
DAILY BASIS ASSIGNMENT 

          DAY: SATURDAY                CLASS: V                    DATE:02.05.2020  

         

  SUBJECT: ENGLISH 

 

I. Tick the correct option: 

 

1. Noun can be: 

a. Common 

b. Proper 

c. Verbs 

d. Both option a and b 

2. You can tell whether words are proper nouns because 

a. They refer to a particular person, place or idea. 

b. They do not have a capital letter. 

c. They are general. 

d. They donate a class of people, places or ideas. 

3. Which of these is a noun? 

a. Joy 

b. Computer 

c. Autocracy 

d. All of the above 

4. Which of these is a proper noun? 

a. Jane 

b. Spain 

c. Microsoft 

d. All of the above 

5. Which of the sentences below is correct? 

a. I am Danish. 

b. The Danes are a lovely people. 

c. Hamlet was a great Dane. 

d. All of the above 

 

SUBJECT: EVS 

 

I. CHOOSE THE CORRECT ANSWER: 

1. Stem cutting is common method to grow 



a) mint                   b) carrot                 c) rose                     d) begonia 

2. Roots of some plants such as …………….. produce a new plant. 

a) sunflower            b) rose                          c) sweet potato          d) potato 

3. Ferns and mushrooms are examples of 

a) spores                  b) roots                         c) stems                    d) leaves 

4. Which one is the reproductive unit having an embryo, reserve food and protective covering 

a) spore                   b) fruit                           c) seed                   d) root 

5. Seeds need water, proper temperature, light and ………… in order to germinate 

a) nitrogen               b) carbon dioxide           c) oxygen             d)  hydrogen 

 

SUBJECT: MATHS 

 

I. Choose the correct answer 

1. The value of 513215 + 46939 - 24849 is 

a) 535305     b) 553305        c) 535300        d) 535503  

2.  The value of 894694 - 231915 + 140634 is 

a) 803431        b) 803413       c) 803411       d) 803444 

3. The value of 42629827 + 23492900 -99999 is 

a) 66022782       b) 66022827      c) 66022728      d) 66024728 

4. The value of 841936 + 721836 - 469321 is 

a) 1092311         b) 1094411        c) 10944615     d) 1094451 

5. The value of 9631246 + 463921 - 69999 is 

a) 10025168      b) 10225168        c) 12205168    d) 10025186 

 

SUBJECT: COMPUTER 

 

I. Choose the best options from those given below: 

i) The need and importance of _________ growing immensely each day 

a) Computer  (b) Software    (c) Storage device         (d) Website 

  



ii) Floppy disk/CD-ROM with program stored in it is an example of 

(a) Program  (b) Windows       (c) Software                    (d) Firmware 

 

iii) __________ literacy is not a choice today; it is a necessity  

(a)  Finance  (b) Art          (c) Computer              (d) Accounts  

 

iv) ________ serves as a link between the user and the hardware  

(a) Hardware (b) System Software     (c) Both (a) and (b)         (d) Network 

 

v) The _________ has become an all propose and essential aid in almost every sphere of 

human activity today 

(a) Hardware (b) Software      (c) Both (a) and (b)         (d) Computer 

 

 

विषय – संस्कृत     
 

सही विकल्प चुनकर उत्तर दें –  
 
प्रश्न 1. ‘ लिखथ: ’  कौन सा पुरुष में हैं - 
  
(क) प्रथम पुरुष     (ख) मध्यम पुरुष    (ग) उत्तम पुरुष   ( घ ) ख एिं ग दोनों  
 
प्रश्न 2. ‘ खादालम ’  कौन सा पुरुष में हैं - 
 
 क) प्रथम पुरुष     (ख) मध्यम पुरुष    (ग) उत्तम पुरुष   ( घ ) क  एिं ख दोनों  
  
प्रश्न 3. - ‘ पठथ ’  कौन सा पुरुष में हैं - 
 
 क) प्रथम पुरुष     (ख) मध्यम पुरुष    (ग) उत्तम पुरुष   ( घ ) क  एिं ग दोनों  
 
प्रश्न 4. ‘ पठलस ’ कौन स े िचन में  हैं ? 
 
(क) एकिचन   (ख) द्वििचन   (ग) बहुिचन  ( घ ) ख एिं ग दोनों 
  
प्रश्न 5. ‘ गच्छन्ति ’ कौन से  िचन में  हैं ? 
 

(क) एकिचन   (ख) द्वििचन   (ग) बहुिचन  ( घ ) क  एिं ख दोनों 
 



ह दंी असाइनमेंट 

I. दिए गए गद्यांश को पढ़कर नीचे दिखे प्रश्ोां कय सही दिकल्प चुनें । 

         पयाािरण हमारा रक्षा किच है । यह हमें प्रकृति से लमिा है । पेड़ पौधे हमारे लमत्र हैं । मनुष्य अपने स्िाथा के 

लिए  पयाािरण के साथ खखििाड़ कर रहा है । अधधक भूलम पाने के लिए जंगिों को नष्ट ककया जा रहा है । िकृ्षों की 
संख्या तनरंिर घट रही है । इससे प्रदषूण का खिरा उत्पतन हो गया है । इसी कारण अनेक प्रकार की बीमाररयााँ 
बढ़िी चिी जा रही है । हमें अधधक से अधधक िकृ्ष िगाकर पयाािरण की शुद्धिा को बनाए रखना होगा । 

क) हमारे लिए पयाािरण क्या है ? 

क) रक्षा किच           ख) प्रकृति         ग) लमत्र           घ) अतय 

ख) पेड़ - पौधे हमारे क्या है ? 

क) शतु्र                 ख) लमत्र           ग) साथी           घ) खेि 

ग) पयाािरण के साथ मनुष्य क्या कर रहा है ? 

क) पररश्रम               ख) खखििाड़       ग) लमत्रिा         घ) शतु्रिा 
घ) मनुष्य जंगिों को नष्ट क्यों कर रहा है ? 

क) पैसों के लिए           ख) घर के लिए     ग) जमीन के लिए       घ) इन सबके लिए 

    ड.) पयाािरण को बचाने के लिए हमें क्या करना चाहहए ? 

            क) िकृ्षा को काटना चाहहए                    ख) प्रदषूण कम करना चाहहए 

             ग) बीमाररयााँ बढ़ानी चाहहए                   घ) अधधक से अधधक िकृ्ष िगाना चाहहए 

 
 

 

 

 

 

 


